Контрольная работа №3 
Вариант I 

1. Умножьте дроби: 
a) 3⁄7 * 2⁄5;

б) 4⁄9 * 3⁄4;

2. Вычислите значение выражения: 2⁄5 * ( 3⁄8 - 1⁄5);

3. Рассчитайте: ( 7⁄8 - 1⁄4) * 3⁄8;

4.Вычислите: 7 15⁄17 + (3 6⁄9) - (2 8⁄13) + 4 12⁄14; 
5.Решите уравнение: 6 15⁄16 + 7 1⁄16 = x + 4 5⁄8 + 1 3⁄8;








Контрольная работа №3 
Вариант II 

1. Умножьте дроби: 
a) 3⁄8 * 2⁄7;

б) 4⁄5 * 3⁄8;

2. Вычислите значение выражения: 3⁄7 * ( 3⁄5 - 1⁄4);

3. Рассчитайте: ( 7⁄8 - 2⁄9) * 3⁄7;

4.  Вычислите: (6 12⁄15 - 2 8⁄10) + (3 5⁄15 + 8 14⁄20);

 5. Решите уравнение: x + 3 5⁄8 + 2 3⁄8 = 8 3⁄8 + 1 5⁄8;
